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=COUNT(IF(( x1 = Yx( x2 = ),1,""M)
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H i | p o | R | g T
2 %1 x| FEFErET Blg | BIET2 EIS1w2
3 1 5] 7 12 n.2000 0.0400 0.03%84
4 2 B b 11 n.1ga3 0.0536 0.0%33
5 3 ¥ B 13 n.216% 0.04E19 0.0487
5 4 b 7 15 n.2500 0.0625 n.0g22
7 b 4 b ] n.1500 0.0225 n.nzzz
2 et an an Bl 0.2056 n.2023
q
10 EE & K o
11 ATHESE 42 0,700 0.G224 N.6234
12
13 0%: =COUWTIF(EB}S:BES2.ENED
14 011: =2COUNTCIF(B3:B32=C3:C32.1."" 1
15 3118 =(R11-38)3/01-38)
15 T3: =02%P3/0%2"°2
17 Ti1: |=(B11-T&)/(1-T8)
2 2.3 p.36 K

P 1, T2

T P. =0.2033 K 0.6234

(2) VBA

2.2 1 2
3
3 VBA
2.3
kappa *2
2.1
PO‘) P67 K
2 B K

*2

kappa
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2.3: VBA
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16 E] 3 xd 0.700
(3) JMP
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0.623431
9 0.622378
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(1)
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2.5: VBA 3
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10 =1 =2  x8 1 2 8 4] &&
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2 1 1 2 2 ] ] 3 ] 16
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4 1 2 ] 4 ] ] 2 14 16
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7 ] ] ]
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q 4 4 4 Pe n.251 0.240
10 4 4 4 K 0.510 0.519 0.518
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xl Wi ]
%1 0.600 0.B0&
=l 0,700 0.351
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2 K
K p-44
K .5 0.519
P07 Pe K
R, F 0.633, 0.240 K 0.518
3
(3)
§4.4 p.88 =20 p=11
n, p
2.6
2.6: VBA 11
1 2 3 4 5 B 7l &5t
1 72 28 0 0 0 0 o| 160
2 28 144 5l 2 5 0 0| 240
g 0 5l 130 50 23 0 0| 260
4 0 2 B0 154 £g 24 1| 240
5 0 5 29 B9 248 134 5| 440
B 0 0 0 2 13 232 BO| 450
7 0 i I i 5 B0 204|270
&3+ 160 290 PED 290 430 450 g0 2200
TR0 | 0.538 0.558
Pe | 0.159 0.156
x| 0.451 0.454 0.45%
Fo, &
1 3 4 5 B 7 B 3 10 11
1 0.46% 0,851 0,521 0.40%8 0.407 0.249 0.840 0.412 0,405 0,472
2 | 0.550 0.684 0.405 0.568 0,357 0.450 0.353 0.425 0.804 0.%66
5 | 0.450  0.700 0.459 0.B40 0.%99 0.575 0.19% 0.53% 0.40% 0.407
4 | 0.600  0.500 0.550 0.645 0.541 0.B4% 0.481 0.41% 0.50% 0.405
5 | 0,500 0.B50 0.700 0.700 0.755 0,756 0.24% 0.489 0.25% 0.432
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11 | 0.860  0.450 (0.500 0.500 0.500 0.500 0.450 0.550 (0.BE0  0.G0D
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